IHPUEM IITUCBMEHHOI'O
BbIYUTAHUA
JHJIA CIYHAEB BU/IA
7 000 - 345, 37 007 - 18 032
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3apaHue «Llenoukay.

180 ?
7
. ?T+ |

10 x3




PelwueHue npumepoB YCTHO

999+1 = 10 000-1 =

50 000-1 = 1 000-1 =

9 999+1 = 80 000-1 =
1 050 -50 = 20 000+800=
35 840- 840 = 4700 -32=




9
4700
32

4668

1) 3anucbiBalo ymeHbLUaemMoe...

2) 3anucbiBaro BblYUTaeMoe:
eAVHUUbI No4 eANHNLAMU, OECATKU
noa gecsATkamMu, COTHU noA
COTHSIMMU. ..

3) BblunTtaro egnHULUbI...
U3 0 BblyeCcTb HENb3S, 3aHUMaAIO...




3aaava 303 cTp.63
AHBapb — 4850 T } o

®eBparnb - 2, Ha 365 T M. \
UcTtpatunn 6335 1
Octanochb - ?

1.) 4850
— 365
4485 (1) — B heBpane
2.) 4850
+ 4485
9335 (T) — BbINnycTUNa pabpuka
3.) 9335
-6335
3000 (1)

g_%ﬂ 3000 ToHH Oymaru nctpatunm Ha
[IKGNbHbIE TeTpaau.




JlJ1s caMOCTOATEIbHON PAadOThI

Pemure nmpumepsbl

Ne 305.



JlomanrHee 3aganue

Peiuurh NMpUMepbI
Ne 307. rerpans Ne 1, c. 40, Ne
95-98




